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1.	 (d)
iqu%jpuk 'kq¼ orZuh okyk 'kCn gSA 'ks"k lHkh v'kq¼ gSa] 
budk lgh :i gSa& eu%dkeuk] lÙoxq.k] yC/çfr"BA 

2.	 (c)
dqgklk ,d rn~Hko 'kCn gS] 'ks"k lHkh rRle 'kCn gSaA

3.	 (a)
^'k*] ^"k*] ^l* dk mPpkj.k LFkku Øe'k%  rkyO;] 
ew/ZU;] naR; gksrk gSaA

4.	 (b)
Lusg rRle 'kCn gS] 'ks"k lHkh rn~Hko 'kCn gSaA

5.	 (a)
'kq"d rRle 'kCn gS ftldk rn~Hko :i ^lw•k* gksrk gSA 
cgknqj rqdhZ Hkk"kk dk 'kCn gS] vr% ;g ,d fons'kt 
'kCn gSA fdydkjh ,d ns'kt 'kCn gS rFkk lkSHkkX; ,d 
rRle 'kCn gS ftldk rn~Hko :i lqgkx gksrk gSaA

6.	 (d)
vkRek dk i;kZ;okph 'kCn  gS& {ks=kK] iq#"k] çk.k] 
thokRek] thou vkfnA niZ dk vFkZ vgadkj gksrk gSA

7.	 (d)
vusdkFkhZ 'kCn ^ve`r* ds dbZ vFkZ gksrs gSa_ ;Fkk& baæ] 
lw;Z] czãA f'ko bldk lgh vFkZ ugha gSA

8.	 (c)
'k;u dk foykse 'kCn tkxj.k gksrk gSA

9.	 (d)
Ñ".k dk laf/&foPNsn gS& Ñ"k~  $ uA

10.	 (a)
¶nk¡r dkVh jksVh¸ eqgkojs dk vFkZ&xgjh fe=krk gksrk gSA

11.	 (b)
^vuq:i* esa çFke •aM dh ç/kurk gS] vr% blesa 
vO;;hHkko lekl gSA

12.	 (d)
laKk] loZuke] fo'ks"k.k]fØ;k ls lacaf/r 'kCn fodkjh 'kCn 
gksrs gS tcfd fØ;k fo'ks"k.k] laca/cks/d] leqPp;cks/d] 
foLe;kfncks/d ls lacaf/r 'kCn vfodkjh 'kCn gksrs gSA  

13.	 (c)
fgUnh miHkk"kk (cksyh oxZ)

iwohZ [k.M

iwohZ fgUnh

fcgkjh fgUnh

if'peh fgUnh

if'peh [k.M jktLFkkuh fgUnh

cksfy;k¡

vo/h
c?ksyh
NÙkhlx<+h

Hkkstiqjh
exgh
eSfFkyh

dkSjoh
gfj;k.kh ;k gfj;k.koh
nfD[kuh ;k nduh

cztHkk"kk
cqansyh
dUukSth

ekjokM+h
t;iqjh

esokrh
ekyoh

igkM+h fgUnh

dqekÅauh
x<+okyh

fgekpyh

vkdkj cgqy

vksdkj cgqy

14.	 (a)
fgUnh miHkk"kk (cksyh oxZ)

iwohZ [k.M

iwohZ fgUnh

fcgkjh fgUnh

if'peh fgUnh

if'peh [k.M jktLFkkuh fgUnh

cksfy;k¡

vo/h
c?ksyh
NÙkhlx<+h

Hkkstiqjh
exgh
eSfFkyh

dkSjoh
gfj;k.kh ;k gfj;k.koh
nfD[kuh ;k nduh

cztHkk"kk
cqansyh
dUukSth

ekjokM+h
t;iqjh

esokrh
ekyoh

igkM+h fgUnh

dqekÅauh
x<+okyh

fgekpyh

vkdkj cgqy

vksdkj cgqy

15.	 (c) 
ckYVh vkSj iknjh iqrZxkyh Hkk"kk ds 'kCn gSA

16.	 (c) 

17.	 (d) 

18.	 (a) 
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19.	 (a) 

20.	 (d) 

21.	 (c)
vUo; 'kCn esa ;.k laf/ gSA vUo; 'kCn dk laf/ foPNsn 
^vuq $ v;* gksrk gS- blesa ^m* ds ckn ^v* vkus ls 
^o* cuk gSA ;.k laf/] Loj laf/ dk ,d çdkj gSA

22.	 (d)
lgh okD; gS& ge rks vo'; tk;saxs] fdlh vkneh dks 
Hkst nks] pj•k pykuk pkfg,] ,d&,d dj lHkh ej 
x,A

23.	 (a) 
vnkar&ftldh bfUæ;k¡ o'k esa u gks] vnk;& iSr`d laifÙk 
dk va'k u ikus ;ksX;] vnhf{kr& ftls nh{kk u feyh gks] 
vRojk& 'kh?kzrk dk vHkkoA

24.	 (b)
vxsg dk vFkZ & ^ftlds ikl ?kj ckj u gks* gksrk gSA 
vkxs vkus ;k tkusokyk &vxqvk ] tks xk<+k u gks& v?ku 
vkSj 'kh?kzrk dk vHkko& vRojk dgk tkrk gSaA

25.	 (d)
laxhr] fojg vkSj U;k; iqfYyax 'kCn gSa tcfd vfgalk 
L=khfyax 'kCn gS

26.	 (b)
The Amazon rainforest is referred to as the “lungs 
of the Earth” because it plays a crucial role in 
absorbing carbon dioxide and producing oxygen, 
contributing to the global balance of these gases.

27.	 (b)
The Amazon rainforest affects regional weather 
patterns by generating moisture that contributes 
to rainfall both within and beyond the Amazon 
basin.

28.	 (b)
The passage highlights logging, agricultural 
expansion, and mining as the primary threats 
to the Amazon rainforest, leading to significant 
deforestation and habitat loss.

29	 (c)
Deforestation in the Amazon rainforest can lead 
to the endangerment of species and disruption 
of climate stability, as it impacts both local and 
global environmental systems.

30.	 (b)
Conservation efforts are crucial for preserving the 
Amazon rainforest’s biodiversity and mitigating 
the impacts of climate change, ensuring the 
protection of this important ecological system.

31.	 (c) 
“Cataclysmic” denotes a disaster of epic 
proportions, fitting for an eruption causing 
extensive damage.

32.	 (d) 
The exclamation in indirect speech often 
maintains the emotion but changes the tense 
appropriately, so “is” changes to “was.”

33.	 (a)
“Dull” is the opposite of “Vivid,” as it describes 
something that is lacking in brightness, color, or 
interest.

34.	 (c)
The correct spelling is “Perseverance.” The word 
“Perserverance” is a misspelling.

35.	 (a)
I.	 Correctly punctuated

An exclamation mark usually shows strong 
feeling, such as surprise, anger or joy. Using 
an exclamation mark when writing is rather 
like shouting or raising your voice when 
speaking

II.	Correct statement is I don’t often go 
swimming; I prefer to play tennis.

	 Semicolon is used to separate sentences that 
are grammatically independent but that have 
closely connected meaning.

36.	 (c)
A “road hog” is someone who drives in a way 
that takes up more than their fair share of the 
road, often causing problems for other drivers.

37.	 (c) 
An exclamation mark usually shows strong 
feeling, such as surprise, anger or joy. Using an 
exclamation mark when writing is rather like 
shouting or raising your voice when speaking.
Commas separate parts of a sentence into logical 
elements. Commas have no meaning, but they 
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help us to see the structure and therefore the 
meaning of the sentence

38.	 (b)
“Indifferent” means showing little interest or 
concern, which contrasts with what was expected 
in terms of enthusiasm.

39.	 (d)
Let the numbers be A, B and C. 
A+B+C=131 then A = 5B/6  
B=B
C=9B/7. 
A+B+C = 131
=5B/6+B+9B/7
on solving, we get B = 42

40.	 (d)
Logic => (First number)2+ First number = Second 
number.
Hence, 212+21 =462. Hence (d) is different.

41.	 (d)
Logic : First number : 2 × (First number)2+1 
Hence, 18 : 2 × 182 + 1= 649. 
Similarly, 12 : 2 × 122 +1 = 289

42.	 (d) 
Let the distance be d. Time to travel from X to Y 
= d/40 hours. Time to return = d/80 hours. Total 
time = d/40+d/80=6. d=160 km.

43.	 (a)
The first digit has 2 choices (1 or 3). Each of 
the remaining 4 digits has 5 choices (1, 3, 5, 
7, 9). So, the total number of such numbers is 
2×!5=2×625=1250.

44.	 (d)
Total students = (Rank from top + Rank from 
bottom - 1) + Students who did not appear + 
Students who failed = (10 + 15 - 1) + 8 + 6 = 38.

45.	 (b)
When facing South and then turning 225° in the 
anti-clock wise direction, she will face North-
West. Then turning 180° in the clock-wise 
direction from North-West, she will face South-
East.

46.	 (a)
The phrase comes from boxing, in which a fighter 
indicates surrender by throwing a towel into the 
ring.

47.	 (d)
Let C, H be the number of cows & chickens resp.
•	 Each cow has 1 head and 4 legs.
•	 Each chicken has 1 head and 2 legs.
•	 Total heads: C + H = 150
•	 Total legs: 4C + 2H = 440
Solving these equations, we get C = 70

48.	 (b)
Let total votes casted be x, then votes got by 
1st candidate = 35x/100 and votes got by 2nd 
candidate = 65x/100
Then difference in votes = 360 = 65x/100 – 
35x/100
X = 1200

49.	 (d)
Logic: 13 + 1, 23 + 2, 33 + 3, hence 63 + 6 = 222

50.	 (d)
Difference in Place values :
Place value of N – place value of B = 14-2 = 12, 
Similarly, HR = 18-8 = 10, RD = 18-4 = 14
Hence, PZ = 26 – 16 = 10. Hence, it should be 
PZ 10 

51.	 (b)
Brainstorming encourages free thinking and the 
generation of many solutions without judgment, 
which aligns with the described technique.

52.	 (a)
This statement is not correct. While many birds 
can fly, there are exceptions such as ostriches and 
penguins.

53.	 (c) 
Psychological barriers include internal factors 
such as the speaker’s anxiety or lack of confidence, 
which can hinder effective communication.

54.	 (c) 
The encoder converts the message into a form 
that can be transmitted over the communication 
channel.
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55.	 (c)
Psychological barriers involve issues such as lack 
of interest or attentiveness, which affect how the 
message is received.

56.	 (c) 
Using analogies and examples that relate to the 
audience’s experience helps in making complex 
information more understandable.

57.	 (b)
Repeating key points helps reinforce the message 
and makes it more memorable for the audience.

58.	 (c)
The tone of voice is crucial for conveying nuances 
like sarcasm or irony that may not be apparent 
from the words alone.

59.	 (a)
An architect creates a blueprint for a building, 
and a composer writes a score for music. 
Both relationships involve a detailed plan or 
representation for their respective fields.

60.	 (d)
Let CP = x, then MP = 1.40x
Discount = 25% of 1.40x = 0.25 × 1.40x = 0.35x
SP = 1.40x - 0.35x = 1.05x
Profit = SP - CP = 1.05x – x = 0.05x
Profit Percentage = (Profit / CP) × 100 
= (0.05x / x) × 100 = 5%

61.	 (d)
•	 Odd positions = 8, Even positions = 7 (total 

= 15)
•	 Sum of observations at odd positions = 15 × 

8 = 120
•	 Sum of observations at even positions = 12 × 

7 = 84
•	 Total sum = 120 + 84 = 204
•	 Mean of all observations = 204 / 15 = 13.60

62.	 (c)
Let C = Cost price of one item & S = Selling price 
of one item
Total Cost = 40C, Total Selling Price = 40S
Profit = Total Selling Price – Total Cost price, 
Profit = 40S – 40C

Given Profit = Selling Price of 8 items: 8S
So: 40S − 40C = 8S → C = 4S/5. Hence, Profit 
per item = S – C = S/5.
Hence Profit % = (S/5)/(4S/5) × 100 = 25%

63.	 (d)
The series represents series of factorials starting 
from 0!. Hence, next no. will be 5! i.e. 120

64.	 (a)
First n odd natural numbers are 1, 2, 3, 5, …, 
(2n−1).
So, required mean = 1 + 3 + 5 + …+ (2n−1) / n
⇒ Required Mean = n.

65.	 (b)
Problem Space is the term that describes the 
complete range of possible solutions and actions 
available in the problem-solving process. It 
includes all possible states and paths that could 
be explored to find a solution.

66.	 (b)
Heuristics are used to simplify complex problems 
by offering practical shortcuts that can lead to 
quicker solutions, rather than ensuring a perfect 
or exhaustive analysis.

67.	 (d)
•	 Effective climb in 2 minutes = 4 meters – 3 

meters = 1 meter.
•	 To reach 20 meters, calculate cycles:

	� Effective climb after 18 meters (in 36 
minutes) is 18 meters.

	� The monkey needs 1 more minute to climb 
the final 4 meters.

Total time = 36 minutes + 1 minute = 37 minutes.

68.	 (a)
•	 Given percentage: 100 % → 3600 then, 15%   

3600 × 15/100 = 540

69.	 (c)
Let the temp. on 3rd of December be x C. Then 
24.4 = 2x24 + x 3 = 25.2 °C

70.	 (b)
Let wine and water are 5x and 2x litres 
5x + 2x = 49 
⇒ 7x = 49 
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x = 7
So
5x = 35, 2x = 14 
Now 35/(14 + w) = 7/4 98 + 7w = 140 
7w = 42 w = 6

71.	 (d)
Let Shweta sell good at Rs. 100 So Preeti sell 
good at Rs. 75 Now this Rs. 75 is 25% dearer 
than Divya’s i.e.
Divya’s price x 125/ 100 = 75
... Divya’s price = 60
Divya’s good is Rs. 40 cheaper than Shweta’s in 
% term (40/100) × 100 i.e. 40%

72.	 (c)
Let A requires x days then B requires 4x days. 
According to given condition 
4x – x = 45
3x = 45 
x = 15. 
Together they can finish 
1 /15 +1 /60  = 5 /60 =1/12 = part in a day So, it 
requires 12 days to finish the task together.

73.	 (c)
To form a triangle we have to connect any three 
points. i.e., in this case select any three points out 
of 18. This can be done in 18C3ways = 816ways

74.	 (c)
Area of a triangle is directly proportional to 
square of its sides. So if side is increased by 
200% or become three times area will become 9 
times i.e. increased by 800%.

75.	 (c)
Sum of digits for all above except 606 is not 
divisible by 3.

76.	 (b) 
Inductive reasoning evaluates conclusions based 
on the likelihood or probability that they are true, 
given the evidence. Deductive reasoning, on 
the other hand, guarantees the conclusion if the 
premises are true.

77.	 (b)
A∩B represents elements common to both A  
and B.

B−(A∩B) means we are removing the elements 
that are in both A and B from B.
Thus, B−(A∩B) is the set of elements that are in 
B but not in A, which simplifies to B−A.

78.	 (c)
Alex > Kevin > Laura, Kevin > John > Maria. 
Combining these, the order from tallest to shortest 
is: Alex > Kevin > John > Maria

79.	 (c) 
Directive decision makers prioritize speed and 
efficiency, making quick and clear-cut decisions 
based on straightforward solutions.

80.	 (b)
Total occurrences of the digit ‘0’ from 1 to 200:
•	 Units place: 20 occurrences
•	 Tens place: 11 occurrences
Hence, Total 31 occurrences.

81.	 (b)
•	 Speed: Kilometer per hour – Kilometer per 

hour is a unit of measurement for Speed.
•	 Temperature: Celsius – Celsius is a unit of 

measurement for Temperature.
•	 Mass: Kilogram – Kilogram is a unit of 

measurement for Mass.
•	 Time: Stopwatch – Stopwatch is an instrument 

used to measure Time

82.	 (c)
Let the height of the cone be h. Volume of the 
sphere = volume of the cone 4/3 × π × r3 = 1/3 × 
π × r2 × h.
h = 4r

83.	 (b)
Volume of the resulting cube = Sum of the 
volume of the three cubes = (6)3 + (8)3+ (10)3 = 
1728 cm³ 
Side of the resulting cube =3√1728 cm =12 cm

84.	 (a)
Bag contains 4 black and 5 red balls, to get all 
black = 4C3/

9C3 = 4/84 = 1/21

85.	 (d)
	 t = D/(SB - SS) (upstream)
	 = 8/(12 - 2) = 8/10 = 8/10 × 60 = 48min
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86.	 (a)
In Allahabad we have 4 A’s that is only one 
vowel & 4 consonants (B, D, H, L) So any 
four combination AB, AD, AH, AL are only 4 
possibilities. Thus 4 ways.

Answer 87 to 88:
Let the number of sweets be x. 
Number of sweets left with him after devoting in 
Temple.
= x-(x/2-1) =x/2+1 
Number of sweets left with him after giving to the 
baggers =x/2 -2
Number of sweets left with him after giving to the 
poor children = 1/2(x/2-2)=x/4-1 Number of sweets 
left with him after giving to his brother = x/4-2 = 1
This gives x = 12.

87.	 (c)

88.	 (c)

89.	 (b)

90.	 (c)
When the mean is greater than the median, it 
typically indicates that the distribution is skewed 
to the right, with a longer tail on the right side.

91.	 (a) 
The mean is most affected by extreme values or 
outliers because it takes all values into account in 
its calculation.

92.	 (c) 
Histograms are used to represent the distribution 
of quantitative continuous data.

93.	 (a)
The correct sequence involves first formulating a 
hypothesis, designing the experiment, collecting 

data, analyzing results, and finally reporting 
findings.

94.	 (b)
The representativeness heuristic involves 
assessing the likelihood of an event based on how 
similar it is to a prototype or stereotype, which 
can lead to biased judgments.

95.	 (c)
Active listening involves giving full attention 
without interrupting. Interrupting the speaker is 
generally considered disruptive and does not aid 
in better understanding.

96.	 (b) 
Henri Fayol is known for his classic definition 
of management as a social process involving 
planning and regulating operations efficiently.

97.	 (a) 
Predictive analysis uses simulations or models 
to forecast future outcomes and inform decision-
making processes.

98.	 (b) 
Improving clarity in written communication 
involves proofreading and revising to ensure the 
content is concise and straightforward.

99.	 (c) 
Ego defense mechanisms can lead to 
defensiveness, making it difficult for individuals 
to accept and correctly interpret feedback.

100.	(a) 
Agile development is a method where solutions 
are tested and refined iteratively based on 
continuous feedback and results.
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